SF2E38 % BIHXEY—ERIRLERZIRE
- % # R E 5 25 B =
2 % & H o WH KXER
= O 1 2 3 4 5 6 7 8 9 Ki%%%&% B H H H H H H H H H H
S =5 (BEERKL) (ﬂkm ’ﬂ:%) : I T R
) = 5 HEE sShNEE
R # R L s Ioa%n [aan
O & ANIVIN—RT—23 X X
FIFE 18 £ IR A S(H) | 4,000F3
e EENEHE TERRBEM || K | LT XEREEN [ ama Y
i Y—ERRE | ms | &7 | m | B |7 [ me || 0| B | w7 | ux ||BEE| on i
f]8 m | sshl | sham | eeE | e | esmam|| a || veRn | ssen |shnam|| () || EMEFD| HERA
6| A | #mmEm | 1200 | 1500 | 3 [1200[1500] 3 || 1| : e76 | ED (&)
17 | % EEXE 14:00 | 16:00 | 2 [1400[16:00] 2 || 1| : 02 || @D @)
/J . N
FEaO0F AL RERAE TR AR, L%
D=HISEEFTXEELILIGEIE.
Y—ERARBEDORICIEEZEILEA
LTLEELY,
\ . : e
& 5 5 5 / 1578
BRI ZEEE 5 TIN—TXEEE

[ + [ &2 | 1+ | #&BE




